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B. Because the browser can safely execute all interpreted applets. 
C. Because compilers are not reliable. 
D. It does not. Interpreted code poses more risk than compiled code. 
 
Correct Answer: A 
 
 
QUESTION 1188 
Which model, based on the premise that the quality of a software product is a direct function of 
the quality of its associated software development and maintenance processes, introduced five 
levels with which the maturity of an organization involved in the software process is evaluated? 
 
A. The Total Quality Model (TQM). 
B. The IDEAL Model. 
C. The Software Capability Maturity Model. 
D. The Spiral Model. 
 
Correct Answer: C 
 
 
QUESTION 1189 
Phreakers are hackers who specialize in telephone fraud. What type of telephone fraud simulates 
the tones of coins being deposited into a payphone? 
 
A. Red Boxes 
B. Blue Boxes 
C. White Boxes 
D. Black Boxes 
 
Correct Answer: A 
 
 
QUESTION 1190 
What is the proper term to refer to a single unit of Ethernet data? 
 
A. Ethernet segment 
B. Ethernet datagram 
C. Ethernet frame 
D. Ethernet packet 
 
Correct Answer: C 
 
 
 

http://www.ensurepass.com/CISSP.html
http://www.ensurepass.com/CISSP.html
http://www.ensurepass.com/CISSP.html


Download Full Version CISSP Exam Dumps(Updated in Feb/2023)

CISSP Exam Dumps   CISSP PDF Dumps   CISSP VCE Dumps   CISSP Q&As 

https://www.ensurepass.com/CISSP.html

QUESTION 1191 
Which of the following represents an ALE calculation? 
 
A. Singe loss expectancy x annualized rate of occurrence. 
B. Gross loss expectancy x loss frequency. 
C. Actual replacement cost - proceeds of salvage. 
D. Asset value x loss expectancy. 
 
Correct Answer: A 
 
 
QUESTION 1192 
IF an operating system permits executable objects to be used simultaneously by multiple users 
without a refresh of the objects, what security problem is most likely to exist? 
 
A. Disclosure of residual data. 
B. Unauthorized obtaining of a privileged execution state. 
C. Data leakage through covert channels. 
D. Denial of service through a deadly embrace. 
 
Correct Answer: A 
 
 
QUESTION 1193 
Tape arrays use a large device with multiple (sometimes 32 or 64) tapes that are configured as a? 
 
A. Single array 
B. Dual array 
C. Triple array 
D. Quadruple array 
 
Correct Answer: A 
 
 
QUESTION 1194 
Why would anomaly detection IDSs often generate a large number of false positives? 
 
A. Because they can only identify correctly attacks they already know about. 
B. Because they are application-based are more subject to attacks. 
C. Because they can’t identify abnormal behavior. 
D. Because normal patterns of user and system behavior can vary wildly. 
 
Correct Answer: D 
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QUESTION 1195 
According to private sector data classification levels, how would salary levels and medical 
information be classified? 
 
A. Public 
B. Sensitive 
C. Private 
D. Confidential 
 
Correct Answer: C 
 
 
QUESTION 1196 
Which of the following is used in database information security to hide information? 
 
A. Inheritance 
B. Polyinstantiation 
C. Polymorphism 
D. Delegation 
 
Correct Answer: B 
 
 
QUESTION 1197 
Which of the following evaluates the product against the specification? 
 
A. Verification 
B. Validation 
C. Concurrence 
D. Accuracy 
 
Correct Answer: A 
 
 
QUESTION 1198 
Application Level Firewalls are commonly a host computer running proxy server software, which 
makes a? 
 
A. Proxy Client 
B. Proxy Session 
C. Proxy System 
D. Proxy Server 
 
Correct Answer: D 
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QUESTION 1199 
What attack involves the perpetrator sending spoofed packet(s) with the SYN flag set to the 
victim’s machine on any open port that is listening? 
 
A. Bonk attack 
B. Land attack 
C. Teardrop attack 
D. Smurf attack 
 
Correct Answer: B 
 
 
QUESTION 1200 
The beginning and the end of each transfer during asynchronous communication data transfer 
are marked by? 
 
A. Start and Stop bits. 
B. Start and End bits. 
C. Begin and Stop bits. 
D. Start and Finish bits. 
 
Correct Answer: A 
 
 
QUESTION 1201 
Most of unplanned downtime of information systems is attributed to which of the following? 
 
A. Hardware failure 
B. Natural disaster 
C. Human error 
D. Software failure 
 
Correct Answer: A 
 
 
QUESTION 1202 
Raid that functions as part of the operating system on the file server 
 
A. Software implementation 
B. Hardware implementation 
C. Network implementation 
D. Netware implementation 
 
Correct Answer: A 
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QUESTION 1203 
During which phase of an IT system life cycle are security requirements developed? 
 
A. Operation 
B. Initiation 
C. Development 
D. Implementation 
 
Correct Answer: B 
 
 
QUESTION 1204 
Ensuring that printed reports reach proper users and that receipts are signed before releasing 
sensitive documents are examples of? 
 
A. Deterrent controls 
B. Output controls 
C. Information flow controls 
D. Asset controls 
 
Correct Answer: B 
 
 
QUESTION 1205 
Non-Discretionary Access Control. A central authority determines what subjects can have access 
to certain objects based on the organizational security policy. The access controls may be based 
on? 
 
A. The societies role in the organization. 
B. The individual’s role in the organization. 
C. The group-dynamics as they relate to the individual’s role in the organization. 
D. The group-dynamics as they relate to the master-slave role in the organization. 
 
Correct Answer: B 
 
 
QUESTION 1206 
An effective information security policy should not have which of the following characteristics? 
 
A. Include separation of duties. 
B. Be designed with a short-to mid-term focus. 
C. Be understandable and supported by all stakeholders. 
D. Specify areas of responsibility and authority. 
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